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L= B

el

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
< 47,736
308 XXM SO A 684,216 645,000 39,216
= 636,480
< 47,736
01 IXNHHBNEES 684,216 645,000 39,216
OXHELXNSE =LA H ALY 684,216
= 636,480
< 47,736
g 25, 22l 7,654,190 5,865,350 1,788,840
= 5,347,000
< 2,307,190
A2 A2 = (XXM 2,643,500 2,888,000 A 244,500
= 2,328,000
< 315,500
308 XXM SOIA 2,643,500 2,888,000 A 244,500
= 2,328,000
= 315,500
01 AXHHBILEES 2,587,500 2,800,000 A 212,500
Ogote 2EX& 2,587,500
= 2,300,000
< 287,500
10 3J/2S0HUHSBAEAEALS I 56,000 88,000 A 32,000
OHIHHY AEHEA 56,000
= 28,000
< 28,000
sy SdAS 2,342,360 1,240,000 1,102,360
= 1,889,000
< 453,360
403 MtXISHH S0l & 2,342,360 1,240,000 1,102,360
= 1,889,000
< 453,360
01 XM A=2EE 2,342,360 1,240,000 1,102,360
Oolszeldgy sS8X& 2,342,360
= 1,889,000
< 453,360
HEHS XA 576,300 538,300 38,000
201 Let24d] 9,900 9,900 0
01 At 22l 9,900 9,900 0
OXTULYB NS IHE 2L S(O&E210%) 9,900
307 glz2tol & 18,000 20,000 A 2,000
02 It HAHEE 18,000 20,000 A 2,000
OQitAe=2d =8 23 X (0aEZ10
%) 18,000
308 AHAIEHSOIA 548,400 508,400 40,000




2N

X{ XH -
S =

B (BH) - NEAY - ﬁlf& HD=2

01 XHNBMNEXTZ 548,400 508,400 40,000
OKMdY dBEs X 455,000
OXgE QAE ZIHAIE 33,400
FR0 MStE T4 60,000

HEXNENH &Y 773,000 562,120 210,880

201 et A | 707,000 511,600 195,400

01 AFR2t2l bl 54,000 48,600 5,400
OgRNEdSd (0o aHE 2 54,000

02 352494 644,000 444,000 200,000
03322 ¢ MA 144,000
O« etz Xl 500,000

03 #HAFS S HI 9,000 19,000 A 10,000
Oolgds 222 Y38 9.000

202 04d| 36,000 20,520 15,480

01 2LHHI 9,000 5,400 3,600
OWYXNE L A H 9,000

02 EHN Y| 27,000 15,120 11,880
ONE XSS (0AE2 27,000

401 Al B 2 0HHI 30,000 30,000 0

01 A& HI 30,000 30,000 0
OogX=sd HIl=x=2ldl 30,000

S ESLE0S X . WA X 12,496 3,900 8,596
=2 9,612
= 2,884

403 XX S M S X201 A 12,496 3,900 8,596
2 9,612
= 2,884

01 AIXISHMA2E X 12,496 3,900 8,596
O ZLEDS &Xl - uA K& 12,496
= 9,612
T 2,884

SHMEFRHMALY (STl 2 M) 100,000 100,000 0
= 100,000

308 XX S M SO0I & 100,000 100,000 0
= 100,000

01 AIXHMBAEXZ 100,000 100,000 0
Odfmtel M A 100,000
= 100,000

2HXI, NsSA3AEH|, VHF-DSC 80,630 80,630 0
= 62,000
< 18,630
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 80,630 80,630 0
= 62,000
< 18,630
01 X SHMA2E X 80,630 80,630 0
OEAID GIZAIAE 25 X3 80,630
= 62,000
< 18,630
DSE L=:J& - 34 - &HIEX - ™ K& 335,904 452,400 A 116,496
= 258,388
< 77,516
403 MtXISHHE X201 & 335,904 452,400 A 116,496
= 258,388
< 77,516
01 XM A=2EE 335,904 452,400 A 116,496
Olss =:J|& - ¥, 48X - A XN 335,904
= 258,388
< 77,516
HEHLHT2ES 790,000 0 790,000
= 700,000
< 90,000
403 A X EHHS =0l A 790,000 0 790,000
= 700,000
< 90,000
01 X SHHMA=2LE L 790,000 0 790,000
O M 723 790,000
= 700,000
< 90,000
=M BEs .84 26,654,818 23,522,558 3,132,260
= 15,385,000
s 6,007,000
< 4,964,068
£ 298,750
AR EE Y 230,000 170,000 60,000
308 X EHSOIA 30,000 20,000 10,000
01 HIXNHHNBMNEELS 30,000 20,000 10,000
OHBME 2HALY 30,000
403 MHXISHE X201 H 200,000 150,000 50,000
01 AXSHMA=2EE 200,000 150,000 50,000
O& &adie 200,000
SHH ZAD|I Bt S 2,216,200 1,406,000 810,200
207 RO 95,000 0 95,000
03 Al & 12 HI 95,000 0 95,000
Odlla Z2U=sH Al AIE AL (0l A 2E5%) 95,000
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LUTE 25 84

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
308 X EHSOIA 1,200,000 939,000 261,000
01 HIXNHHBHNEELES 1,200,000 939,000 261,000
ORgZ MMXH 600,000
OISl LA AMAIE & 2F X2 60,000
O2alxptE Ml2EE XA 180,000
OWMEFAE & x4 60,000
Odlar Maletd =4 XI& 300,000
403 MtXISHH S =0l & 921,200 467,000 454,200
01 X SHMA2E X 921,200 467,000 454,200
O= &3 ANE XA 210,000
OYAE JIEAIE XI& 80,000
OAal AlY - DI K& 100,000
OZXHHedE S4X3 310,000
O &t A T HEXIE It et 19,200
Ox=&=sHMAE XA 30,000
OHtX & &gz X 100,000
ONF= S5 8N 72,000
AIZHEAY 3,750,000 5,500,000 A 1,750,000
s 3,000,000
< 451,250
g2 298,750
308 XX EHH SOl A 762,500 1,000,000 A 237,500
s 610,000
= 152,500
10 3J/2S0HUHSE S HAE ALS HI 762,500 1,000,000 237,500
OWH=ZE2el 562,500
s 450,000
< 112,500
Oolsg=x=4d 200,000
s 160,000
< 40,000
401 AIEHI L 2 CHYI 2,987,500 4,500,000 A 1,512,500
s 2,390,000
< 298,750
£ 298,750
01 A& HI 2,985,500 4,495,000 A 1,509,500
OBAHE=E XA 2,985,500
as 2,388,400
< 298,550
£ 298,550
03 Al 2 THHI 2,000 5,000 A 3,000
OelEAHZ=4E XA 2,000
s 1,600
< 200




A AR D
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Sel 2ATE 25,84 (29l 8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| = 200
S=AMTR_ES A2 200,000 0 200,000
= 200,000
403 XX SHHS K201 & 200,000 0 200,000
= 200,000
01 AIXISHHMA2E X 200,000 0 200,000
Oz s X3AY 200,000
= 200,000
= AE X2 2,144,000 2,488,125 A 344,125
Fag 1,887,000
= 257,000
308 XHXIGH SO0l & 2,144,000 2,443,125 A 299,125
Fag 1,887,000
= 257,000
01 AIKSHHENEXZ 1,929,000 2,154,375 N 225,375
=MNSX0HY L= 1,929,000
g 1,715,000
= 214,000
10 212 SUHUSHEAEAE AN Y| 215,000 288,750 NT3,750
OSSR S WA 215,000
g 172,000
= 43,000
UA A ZAZ (A2 A 954,500 1,103,900 A 149,400
Fag 920,000
& 34,500
308 AHXIEHSOIA 954,500 1,103,900 A 149,400
Fag 920,000
o=t 34,500
01 AIXSHHEMNEXZ 954,500 1,103,900 A 149,400
OAAMNHE H3 124,500
= 120,000
o 4,500
OSAMHAERAZ A 778,125
= 750,000
= 28,125
O4ME HNEHE &X 51,875
hag 50,000
o= 1,875
AEHALEHEEZ 90,000 13,500 76,500
= 70,000
= 20,000
403 XX SRS K20l & 90,000 13,500 76,500
= 70,000
= 20,000
01 MHXSHHE2BE = 90,000 13,500 76,500
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

OresaEe" B3 90,000
= 70,000
= 20,000

SSUMHKYE HESHENEALY 8,300,000 7,500,000 800,000
= 8,300,000

308 XAHXIGH SO0l & 8,300,000 7,500,000 800,000
= 8,300,000

01 HXHHIMNEXS 8,300,000 7,500,000 800,000
SSOoHA S X3 AS 8,300,000
= 8,300,000

HEtANUHXNES(SIETIZ) 3,565,468 3,627,733 ANB2,265
= 3,340,000
o= 225,468

403 XX S S K201 H 3,565,468 3,627,733 ANB2,265
= 3,340,000
o= 225,468

01 XIS A2E X 3,565,468 3,627,733 NB2,265
OXEAHUNHX 22 3,338,668
= 3,130,000
& 208,668
OSAME XNBHHEHKX B2 226,800
= 210,000
o= 16,800

SHMSAHAS (B 2H) 147,500 41,300 106,200
= 125,000
= 22,500

308 AMXISHMSOIA 147,500 41,300 106,200
= 125,000
= 22,500

01 IXHHIMNEEXTZ 147,500 41,300 106,200
ORNMES (&) HAE 147,500
= 125,000
= 22,500

HOUXRSHAAMAAE X 400,000 160,000 240,000
= 300,000
& 100,000

403 XX SHHS K20 & 400,000 160,000 240,000
= 300,000
= 100,000

01 AIXISHHM A2 X 400,000 160,000 240,000
OXESAHMS LAAIL 400,000
= 300,000
=} 100,000

ClOHHICI S AT ALY (2R E X ) 600,000 750,000 A 150,000

308 XAHXIGH SO0l & 600,000 750,000 A 150,000
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4O TR Dt
S FY L3t
LUTE 25 84

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET

01 HIXNHHNBHNEES 600,000 750,000 A 150,000
OXOHHICIS E =& AMY KR (SIHAEH) 600,000

X IIoH ol & X & 2,300,000 483,000 1,817,000
=2 1,750,000
< 550,000

403 MtXISHHE X201 & 2,300,000 483,000 1,817,000
= 1,750,000
< 550,000

01 X SHHAN2E = 2,300,000 483,000 1,817,000
OFZTHHML(IIFAIE SUist) At 2,300,000
= 1,750,000
S 550,000

LANTASSAIE FHIXH 207,500 249,000 A 41,500
= 200,000
< 7,500

403 A X EHHS 20l A 207,500 249,000 A 41,500
s 200,000
= 7,500

01 X ESHMA=E L 207,500 249,000 A 41,500
OLAENSAIE £X 207,500
s 200,000
= 7,500

SAEY B ML X2 749,650 0 749,650
= 700,000
= 49,650

403 XSS A=0l& 749,650 0 749,650
= 700,000
< 49,650

01 X SHMA=2E X 749,650 0 749,650
O2AZE Bt &MLy X& 749,650
= 700,000
< 49,650

4SSO DA ADIE LAAL 800,000 0 800,000
2 600,000
< 200,000

403 MHtXISHE X201 E 800,000 0 800,000
= 600,000
< 200,000

01 X SHHXN2E= 800,000 0 800,000
Ocfz=&=2t Al AQLE 2AAIA 400,000
= 300,000
= 100,000
Odfi ==& 0 2t& & LAAE 400,000
= 300,000
< 100,000
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0% oY

XH
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E

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HE.HE N 16,530,500 15,170,900 1,359,600
s 8,940,000
< 7,590,500
XXM Z2tel (X)) oegA4 (Al&dl) 10,000,000 12,000,000 A2,000,000
s 8,000,000
< 2,000,000
401 Al HI X 201 10,000,000 12,000,000 22,000,000
s 8,000,000
< 2,000,000
01 A& HI 9,985,000 11,985,000 A 2,000,000
oxgog A4 9,985,000
as 7,988,000
< 1,997,000
03 A& =2 THHI 15,000 15,000 0
OXgolg A<« 15,000
s 12,000
< 3,000
KR 2tel () HegAd (AAEH) 500,000 800,000 A.300,000
401 AIEHI L 201 500,000 800,000 A300,000
01 A& Hl 500,000 800,000 300,000
OXgoe Jle & AAdAsEd 500,000
HetE=23X& 1,000,000 750,000 250,000
403 Mt SHHSA=0l& 1,000,000 750,000 250,000
01 X ESHHMA=LE L 1,000,000 750,000 250,000
Oang 822 X 1,000,000
AEHA 12D X 258,000 258,000 0
as 240,000
< 18,000
403 XIS E =0l & 258,000 258,000 0
s 240,000
< 18,000
01 XM A2EE 258,000 258,000 0
OAagold el & 258,000
s 240,000
< 18,000
Sgtlls REUAE £X 752,500 1,302,900 A 550,400
s 700,000
< 52,500
403 A X EHHS =0l A 752,500 1,302,900 A 550,400
s 700,000
< 52,500
01 X HHMA=E L 752,500 1,302,900 A 550,400
O=gthlls RB&u A4 752,500
s 700,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| == 52,500
SHDAE EX(%) 190,000 60,000 130,000
403 UHXSHHSA=0l& 190,000 60,000 130,000
01 XK= F 190,000 60,000 130,000
Of&n AX 190,000
OHE =€ 300 At 3,780,000 0 3,780,000
403 X SHHS =0l & 3,780,000 0 3,780,000
01 XM A=2E X 3,780,000 0 3,780,000
O E=E300AHS 3,780,000
o dEEY B2 TR 50,000 0 50,000
403 XIS E X201 & 50,000 0 50,000
01 HXISHT =2 = 50,000 0 50,000
Ooga &% 22 50,000
A2 (=L IHRA D) 92,040 72,030 20,010
Jl23l (A XA D) 92,040 72,030 20,010
Jl2dul (=&K& 1) 92,040 72,030 20,010
201 et 43,740 34,020 9,720
01 At 22l 43,740 34,020 9,720
O THE L2 FF (0 & E 210%) 43,740
202 O4dl 43,740 34,020 9,720
01 = LH YI 43,740 34,020 9,720
O 22 F & (0l AR 2H10%) 43,740
203 R =&l 4,560 3,990 570
04 FN2ELRZ=TH| 4,560 3,990 570
O ==X (Ol & & 255%) 4,560




